@ TFortis

Operating Manual
TFortis CrossBox-1

Outdoor cabinet with optical distribution
frame for TFortis PSW switches

Version 2.0



Contents

LLPUIPOSE.......ooo s
2. DBSCIIPUION. ...ooooooeeeeeeeeeeeeeeeeeeeeeee e ssssssssssssssssss s
2.1 CADINET ...
2.2.0ptical distribUtion framMe.............ooooovoooe s
S NSTAIALION.........oooooossesssssssssssssss s
3.1.Mounting ON the POIE...........oeee s
3. 2. Wall MOUNTING ..o eeeeeeeeeeeeseeeeeeseeeessessesesesssesssssssssssssssssssssssssssssones
4. Technical SPECIfICALIONS............ooooeeeeeeeeeeeeeeeeeeeeeeee e
CADINEL.......oooossssssssssssssssssssss s
Optical diStriDULION frAME..........ooooooeoeeeeers s sssssssssssssssssssssssssssssnnns
@] o= = u T To o0 g o 110 o ST
6.SCOPE OF SUPPIY....ooooovovveevveveriirvivvvessisssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssns
7. MaNUFACTUIET WRITANLY.............oooooeoeeeeeeeeeeeeeessesassssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssss



1. Purpose

TFortis CrossBox-1 cabinet is designed for building outdoor video
surveillance systems. The cabinet contains an optical distribution
frame and fasteners for TFortis PSW switches:

PSW-1

PSW-1-45

PSW-1-45-WIFI (PSW-LITE)

PSW-2G

PSW-2G4F

PSW-1G4F

PSW-11 (when used with an additional mounting panel).

Nog~WNE

2. Description
2.1. Cabinet

Figure 1. Appearance of the cabinet

Figure 2. Internal appearance of the cabinet



2.2. Optical distribution frame

Bolts for TFortis switch installation

Supports for fixing optical cable

Optical cable fasteners

Splice cassette with a cover

SC adapters panel

DIN-rail

Figure 4. Splice cassette

Note. Shrinkable plastic sleeves, optical adapters, pigtail and clamps are
not included in the supply scope.



3. Mounting
3.1. Mounting on the pole

It is recommended to use TFortis bracket for pole mounting (to be ordered
additionally). Drill holes and fix the bracket.

bolt M8
mounting panel
cabinet
ﬁ bracket
optical distribution frame | [ _H f ] _washer
A ] h nut M8
mounting panel .~ /%ﬁ —
bracket

a8

4

Figure 5. Bracket installation for mounting on the pole



3.2. Wall mounting

Hex-head screw 6x60
(galvanized} g
o\ Dowel 10x60

3
’m N *
{ | 44 P
| 1 TR s

\ a
\ 4 |
“
\
4
\ 4 )
L <
| /
- - h
l’ : ? ./
-

Rubber ring |

>

——
&

a
&n

Figure 6. Mounting on the wall without hooks

Dowel 10x60

Hex-head screw
6x60 (galvanized)

Flange bolt M6x14

Flange nut M6
Rubber ring

Figure 7. Mounting on the wall with hooks



4. Technical specifications

@28

+ L
0000 il

O POO000BHT,

N - T hu:ulnk

lock

395
350
434

310 220 230

Figure 8. Drawing

Cabinet
Type of mounting — hanging
Metal thickness — 1.5 mm
Type of coating — powder, shagreen
Color — RAL 7032
Protection rating IP 54
Door opening angle — 105°
Weight — 8 kg.

Optical distribution frame
Splice cassette for 32 shrinkable plastic sleeves
SC adapter panel — 8 pcs.

5. Operating conditions

TFortis CrossBox-1 cabinet does not require technical maintenance and
Is designed for 24/7 operation at the ambient temperature of -60 C to
+70 C.



6. Scope of supply

Name and designation Qty
ShMP-1-0 IP54 (YKM40-01-54) «IEK» |1

TFortis Cross optical distribution frame | 1

7. Manufacturer warranty

The warranty period for the product is 12 months from the date of
manufacture. Warranty shall not apply in the following cases:

- if there are internal of external mechanical damages (chipping,
cracking, deformation, damaged power supply wires, cracking or
splitting of the terminals), signs of treatment with aggressive
chemicals or fluids, severe contamination, insects presence or
signs of insects presence;

- in case of breaking the rules of installation and operation set forth
in this document;

- if the cabinet was damaged as a result of force majeure, due to the
actions of third parties or other reasons beyond manufacturer's
control.

Manufacturer address: 8a, Khrustalnaya street, Perm Russia, 614107
Fort Telecom LLC
E-mail: info@fort-telecom.ru



mailto:info@fort-telecom.ru

